SEC 20

The main reason for the increase in the general service >50 revenue to cost ratio  between run three to four is due to the increased cost in the residential category due to the increased costs of the meter.  In the previous runs based upon the original 2006 cost allocation model the input cost of a residential “dumb” meter was $50.  In run four the cost of the meter was increased to $176.  As revenue by category remains unchanged,  the residential ratio decreases resulting in the percentage increase noted.  
